10° - ALICE pp, Vs = 13 TeV VOM Multiplicity Percentile

(GeV/c)!

. tri Kg E

10° h—Kg correlation, p‘T"gg >3 GeV/c 7" <08, 7% <08 ® 0001% (x2") M 0.010.05% (2°) & 005-0.1% (x2") ]
05% (x2')  H 5-10% (x2°) 10-30% (x2°) ?

%'_ 10? ﬁ:‘: :': ﬁt‘:‘: {) 30-50% (x2*) oh50-100% (x2°) [ 0-100% I
< -&- 7
10 P . 3

2 Tkt e s ) 3 m#:a::.:
S 1 k= i *—*— - 4 =
P oEge et : Bkt —
2 107! 2 s LG - A 1
= =S Sn g + % gg 2 +
=102 EE'.E..:; & %i a EEEag T & 3
3 — A S =2 s
=10° o - ein = =
2., = = = E
= 10 Full Transverse to leading Toward leading _%
10°° An| <1.2,-n/2 < Ap < 3n/2 0.86<|A77| <1.2,0.96<Ap < 1.8 |An| <0.86, |Ag| < 1.1 I

oo\o .10 T || TT ||| TT ||| TT || LELI || LELI || TT ||| TT ||| TrTT || II TTT II TT III TT III TTTT III TT III TT II TTT II TTT II T III TT III TT II TTT II TTT II TTT II TT III TT III TT III_E
o E
é i _:
L 1 # E
i) ]
&61071 A T T PR FEE T FEEE FTEE PR FENTE -1 FR R SRR Nl FRRTl FRE T SRR ARE T SRR FETR1 i-T1 ANE T SNEN FRTN PR FENRE FRNTE FRRNE AR A

o t+ 2 3 4 5 6 7 80 1 2 3 4 5 6 7 80 1 2 3 4 5 6 7 8
P, (GeV/c) P, (GeV/c) [N (GeV/c)



